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B.A. (Part - I) (Semester - II) Examination, November - 2019
ECONOMICS (Optional)
Indian Economics (Paper - II)
Sub. Code : 61245
Day and Date : Saturday, 02 - 11 - 2019 Total Marks : 50
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Instructions: 1)  All questions are compulsory.
2) Figures to the right indicate full marks.
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Q1) Complete the following sentences by choosing correct alternative. [10]

i) InIndia, green revolution occurred after

a) 1950-51 b) 1967-68
c) 2001-02 d) None of these

i) InIndia the share of service sector in national income has been
a) Decline b) Constant
c) Growing d) None of these

1ii) is important factor, responsible for industrial sickness in
India.
a) Rawmaterials b) Environment
c¢) Management d) None of these

iv) The economics reforms are implementedin ____.
a) 199T=asy b) 2001
c) 1951 T " d) None of these

V) St_a_rv_iég: sector is supposed as _____ sector in economy. -
a) anary ‘ : b) Secondary
c) Tertiary e d) None of these

vi) Small scaleindustry is _____industry.
a) Labour incentives b) Capital incentives

‘ c) aandb d) None of these
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vii) In India due to size of land holding is decreasing.

a) Population decrease - 'b) Population Growth -
¢) Road construction : d) None of these

vﬁi) The exploitation of was done under the Zamindari system.

- a) Money lenders - b) Tenants

c) Agriculturallabourers ~ d) None of these

ix) Single window scheme was started for the increasing export
4)- . lea b) Agro-product
c) Cotton mill d) Foodgrain

x) Service sectors development is depend upon
a) Industrialization b) Agricultural sector
c) Trade d) Allabove

02) Answer the following questions in detail.

a)

B)

Fo 03) Write short notes (any four)

a)
b)
©)
d)
€)
b

" Industrial policy - 1991.

Explain the success and failure of Green Revolution.

OR
Discuss the problems of small scale and Cottage Industry.
Importance of IT Industry in Indian Economy.

OR

Explain the India's foreign trade volume and composition.

Causes of agricultural distress.

Direction of foreign trade.

Causes of Industrial Sickness.
Advantages of Railway Transport.
Importance of Tourisni_ Industry.
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